Holiday homework
Class: 6

Science

1)Write different methods of water harvesting in cities and villages.
2)Make model of rooftop water harvesting in cities .

3)How cows ,buffaloes and camels bear hot conditions in summer .
4)Imagine a scenario (page #15)

the government is planning to ban the use of plastic bags for a debate over the same a
committee was formed a meeting of the committee is being called the members of the
committee are

e A government representative

e A head of shop keeper association
e Aplastic bag manufacturer

e Are cloth bag manufacturer

e An environmentalist

Prepare and present a skit projecting the likely view of the members who attended the meeting
5)Make mineral cycle of interrelationship between different biotics and abiotic components
By pasting pictures of each component.

6)Define food chain.Make 5food chain or food web by pasting or drawing pictures.

7)write name of cereals , pulses,green leafy Vegetables, oils and collect Samples of each.
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MATHEMATICS
1.Remember the table from 2 to 20 . Write the the table of 14, 17, 18 and convert it into Roman
number
2.Write the name of all members of your family & count the number of angles in each name
as- acute, right and obtuse.
3. Write a mathematical story
4.Write the smallest natural number.
5.Which whole number has no predecessor.
6.What are the four operations in mathematics.
7.What is the difference between prime and composite number.
8.Find the least number that should be subtracted from 1000, so that 35 divide the difference
exactly.
9.Find the least number that should be added to 2000, so that 45 divides the sum exactly.
10.Find the largest 6 - digit number which is exactly divisible by 45.
11.Cost of one book is rupees 125.50. What will be the cost of one dozen books.
12.Simplify -a) 111111 +1111.11 +111.111 +11.11

b) 1.8x24-2x21+0.12

c) 1.7+25-18+0.9

d) 8x45-171+19+34

e) (15/17) x (102/ 120) + (51 /30) =

f) 130 — [70 — {60 — (30 + 20)} — 10]




g) 45— [38 — {60 —40 —(9 -7 + 3)}]
h) (5/8) + (7/4) + (9/12)
i) (3/15) — (9/45)
1) (7/9) = (9/7)
K) (31/81) + (93/9)
1) (35/72) + (7/8)
m) 2.5+ 25X 10
n) 63.7 +0.7 X 0.5
0) 225+1.5 + 1.05 — 1.005
p) 3.24 + 1.8 X10 +2.05 -2.005
13) find the value of the following using properties of whole number
a) 786 X 84 + 786 X 16
b) 242 X 1001
c) 4X125X8X 25
d) 16 X 20 X 625 X 500
e) 998 X 125
14) Subtract 12.50 from 60
15) Subtract 13.75 from 15
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ICT:

| cLass | capTeR -ﬁm ON A4 SHEET

Draw picture of Mouse Keyboard,cou & Monitor,
- Do all activiies in your computer copy _|Draw picture from page no.5 & color,labeling them.
Do allactivities in your computer copy _|Prepare a comparion table of RAM & ROM.
Do all activities in your Computer copy |Draw a picture as given page no.11.
Do all activities in your computer Copy _|Prepare a comparion table of all generations of computer.
Do all activities in your computer copy |Drawa picture of all Network (LAN, MAN, WAN)

Social Science:
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ENGLISH:




